08/08/16

88-612-01 — 0" 2 nm'7ax? XIan — "2 1vIn

JD9RWUN 7D 9V 11y ' 24 R D Ypwn .TA%1 01w9 jawnn ATy nin Jiyw 3 jnann nt
NN awn .1
Ixz In(x* +x-2)dx .x
In?(x
J' (%) 4x
X
2

1
f(X) =xcos| = | nx¥paon 7w (NIYsIwn I/ NIPDIR) NIVIVON'ONN 72 NN INXN X
X

ISIn( jdX 01ONN X2N 771201'KN DR yape .2

3
X
j In(L+sin?(t))dt
lim = 3 Y1220 DX AwN X
Xx—0 X
" In(n+k)—In(n
Z ( ) (n) MToN 7N DX AWN A
k=1
4
1 2
h=—— % nxaw " TV Je dx nx e X
1,000 0
[e's} n.2n
z — nxawn 2
n=1 3
5

.0<x Y J. f(t)dt= Ig(u)du v f,g mowv niypae natan X
0 0

0<x 7 F(X)=g(x) 2 inoin

X 0
Dt axpae fooinoin ,0<x Y .[ f(t)dt= I f()dt wpnowvy f 'an 2

0 —X



